
FORD 09-UP F150 Winch Plate 

Rough Country recommends a certified technician install this kit.  In addition to these instructions, professional 
knowledge of disassemble/reassembly procedures as well as post installation checks must be known.  Attempts to install 
this kit without this knowledge and expertise may jeopardize the integrity and/or operating safety of the vehicle.  

Please read instructions before beginning installation.  Check the kit hardware against the parts list.  Be sure you have 
all needed parts and know where they go.  Also please review tools needed list and make sure you have needed tools. 
 

  Does not fit the eco-boost models 
 

PRODUCT USE INFORMATION 
Install winch with instructions supplied with winch. Always practice safe winching and recovery. Never overload a winch 
or use the winch which in any way would void your manufactures warranty.  
 
By purchasing any item sold by Rough Country, LLC, the buyer expressly warrants that he/she is in compliance with all 
applicable  Federal, State, and Local laws and regulations regarding the purchase, ownership, and use of the item.  It 
shall be the buyers responsibility to comply with all Federal, State and Local laws governing the sales of any items listed, 
illustrated or sold.  The buyer expressly agrees to indemnify and hold harmless Rough Country, LLC for all claims result-
ing directly or indirectly from the purchase, ownership, or use of the items. 

92101000A 

10mm wrench /socket 
15mm wrench /socket 
16mm wrench /socket 
3/8” Wrench 
3/4” Wrench 
 
Reciprocating Saw  
Or  
Body Sway 

Tools Needed: 

1010 Box Contains: 
 Winch Plate 
 Fairlead Bracket 
 Control Box Bracket 
 2-Flag Nuts 
1010 Poly Bag: 
 2-1/2” x 1.5” Bolts 
 2-1/2” Flat Washers 
 2-3/8” X 1 1/4 Bolts 
 2-3/8” Lock Nuts 
 4-6mm x 16mm Bolts 
 2-1/4” x 3/4” Bolts
 2-1/4” Lock Nuts 

Kit Contents: 

*1010BAG3* 
1010BAG3 



1. Remove the tow hooks using a 15mm socket. Retain the hardware for reuse. See Photo 1. 
2. Remove the rubber lower shield by removing the push in retainers from inside the bumper. See Photo 2. 

3. Place winch plate in place and hold in place with the tow hook bolts. See Photo 3. 
4. Trim the plastic as needed to install the plate. See Photo 4. 

5. Reinstall the tow hooks with the factory hardware. See Photo 5. 
6. Place the supplied flag nut in the frame as shown in Photo 6 and install the supplied 1/2” X 1 1/2” bolts and flat 

washers. Tighten using a 3/4” wrench.  

PHOTO 1 PHOTO 2 

PHOTO 3 PHOTO 4 

PHOTO 5 PHOTO 6 

REMOVE TOW HOOKS REMOVE THE LOWER RUBBER SHIELD 

PLACE WINCH PLATE ON MOUNTS TRIM PLASTIC AS NEEDED 

REINSTALL THE TOW HOOKS INSTALL FLAG NUT AND 1/2” X 1 1/2 BOLT 



7. Install the winch in the winch plate with the hardware included with the winch. See Photo 7. 
8.    Steps 9-12 are for winches that have the larger removable control boxes.  If you have the 

   RC Pro series winch do not remove the control box, skip to step 13. 
 

9. Remove the plugs from the box and remove the top of the box. See Photo 8. 

10. Remove the mounts from the box using a 3/8” wrench.  Retain nuts for reuse. See Photo 9. 
11. Install the supplied 6mm x 16mm bolts in the box and secure the bracket to the box with the 6mm nuts, from step 9, 

as shown. Tighten using a 10mm wrench. See Photo 10. 

12. Install the assembly to the radiator support as shown with the supplied 1/4” x 3/4” bolts and lock nuts and tighten 
using a 11mm wrench. See Photo 11. 

13. Install the roller fairlead and the fairlead bracket as shown in Photo 12 with the supplied 3/8” x 1 1/4” bolts and lock 
nuts. Tighten using a 9/16” socket / wrench.  

PHOTO 7 PHOTO 8 

PHOTO 9 PHOTO 10 

PHOTO 11 PHOTO 12 

INSTALL WINCH ON PLATE REMOVE TOP COVER TO ACCESS BOLTS 

REMOVE RETAINING CLIPS INSTALL BRACKET WITH 6MM X 15MM BOLTS 

INSTALL BRACKET ON RADIATOR SUPPORT INSTALL FAIRLEAD AND COVER BRACKET 



13. Remove the plastic retainers as shown in Photo 13. 
14. Reverse the plastic retainers and reinstall in rubber as shown in Photo 14.  
15. Reinstall the rubber shield.  

PHOTO 13 PHOTO 14 

REMOVE PLASTIC RETAINER REVERSE AND INSTALL IN SHIELD 

OPTIONAL ACCESSORIES  
CALL YOUR ROUGH COUNTRY DEALER TO ORDER 

ROUGH COUNTRY  ELECTRIC WINCH 
AVAILABLE IN 9500LB & 12000LB 

PART # RS125 SNATCH BLOCK 

PART # RS120 WINCH  
EXTENSION STRAP 

PART # RS110 SYNTHETIC ROPE 

PART # RS106 
WINCH COVER 

      THANK YOU FOR CHOOSING ROUGH COUNTRY FOR YOUR SUSPENSION NEEDS 


